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Code No : SY 52

SECOND YEAR MODEL EXA1UINATXON : FEBRUARY-20l8

PART - III
COMPUTERAPPLICATION(Commerce) rime:2hours

Maximum : 60 Scores Cool offtime: 15 minutes

General Instructions to Csndidates :

. There is 'Cool off time' of 15 minutes to the uritmg trme.

. Use the 'Cool off time' to get familiar rvith questions and to plan ansrvers.

. Read questions carefully before ans\yeilng.

. Write answer to the specific number of questions as instructcd.

. Calculations, figures and graphs should bc shown in the ansr,ver shccl ltself.

. Malayalam version of the questions is also provided

. Give equations wherever necessary.

. Electronic der,ices except non programmable calculators arc not allouecl in the Eramination Hall.

ollaScrdan?a,d*lW oonas m?deg uoanoE :

. crrdqlogs mrocotorojlcti "t;oota ts olcdl$ 'alcro oc"c Otisc' p5reciolaflao;.r.

' 'a,JUa ao.r.d' eiOlSo' Gr-.loBSeonua 
"lO"l"JaOOq-.lSCCDlo Qoro)ot6Bu1 isrg.nlllo.)6mo Oe-teCCDJo

golacOcarleerl6,.
. gcorD(o6BB<r0 

"6e3ol3cm<o-nd 
oSori crcnSorrnoa ioor:lcot]rtqo ejf,:Dll€.J(trr),r.

' "OHc oileccnoroilsgo otldcgcloieemfls "Odmo c-"-1cr:5ear:c,f,ad ol;rlGa goro,oo ogplccol6neo)jggJ.

' oomed e,;3an;e,od, 
"-tl1olonr.d, 1i:rc",c;acr0, oglcrrfiru eo.r0-\rDGo-rcrjolciS ioocm geneccol<o1eoemc.

. Gr-lcBJ5aBcra oacorcA<ooi1el]o fno6a,1e,!Sl6rE

. GDClooJa3 gg mma<oo5 m)aolceJ dcBcrd eta,cs; osramo.

' cLolcLoca]a,ua oo-lgcmcoJcoror acroEesr;aergo}o,oa oe1o6,cor3ge ero] perdcCscerrjld gcrr6,o

6IDoll o oi ro1a,s/c crocgfl oE gcrla coccoleei} oocrE ucsl g.

Questions 1 - 5 Carry I Score each.Answer all
questions.

1. Name anytwo data.typemodifiers in C+r

2. Definetheterm"arraytraversal"

3. WhichtagisusedforhyperlinkinginHTML?

4. Whatis SCM?

5. WritethefullformofOFDMA

Questions 6 to 16 carry 2 score each. Answer
any 9 questions.

6. Write Cr-+ statement to declare and initialise an

atay in the following situations

t nlolod b oJoGao);BE cuccr5mruOad r mice,cd
ru'lnn,r" ^f)ff r crrso5eawdaeilo p6ioooos;arl)e.

1. C++ 
"giorotoJe.rlo oorE cr"ucgc oos$ coco-rfl

"n 
O O1 o,,'-rl og 9i rO) j a:.

2. "c6r*r,ro 1soco.:cOm:oi" nrild,l,-fleei;o.

3. II'Iivii, <0fl "6afl scrd <orgord elo"oq-16 elejio
r.r'lo5 p"lc rlc<rflao;mr<il t

4. 
"gl<rOoani 

ogrt\.ol'l.r41o?

5, ()Fl--)-VlA olars "-:;raeglo:oro o0e)(D16,? (5x1:5)

o olores8 16 iloao.o;gq c"-rca5euncr6ad z micacd
or'loto. 

"geiore,1er,1o s,'6e4poro1cri g(,l?Dooo19)o)]e.

8. (o)Cop .]-!occ)gcrn mrrndre66BgloA <ooco rU)'lgCo

oEjCDj o g crfi o*lSotol ac flu(aslff)]o c ol6n4o)Jgg C#
c gH96, r,0-4' o$)eJ(o)] ar
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a) Anarrayof 5 unitprices 18.50,27.5,19.00,
12 5A,10 75

b) An array wrth letters'WELCOME'.

7 Writethe outputofthe following C1'* code

1) char 51 U0l, S2U 0l : "welcome";

strcpy(S1,S2);

cout<<Sl;

2) char 51[20]: "welcome";

char S2[20]:tt1s Q+*";

strcat(S 1,S2):

ccut<<Sl.

8. Differentiate'static' and'dynamic' webpages

9 . Name any two attribute of <html> tag with use

10 What is the use ofFTP client Software.

1i DefinethefollowingtermsinDBMS

(a)Cardinalrty

(b)Domain

12. Categorise the followrng SQL commands into

DDL andDML

(C]REATE, m{SERT,,{LTER, UPD ATE)

13. WhatisBPR?

1.1 Explain the role of "System testing" in the

imp I irrientation ofERP

I 5 What is the use ofRFID.

16. Compare GPRS andEDGEtechnologies.

Questions 11 to 21 carlT 3 scores each. Answer
any 9 questions.

l7 . \t'rite the output ofthe following code segment

in C+r

intsum:0,
rnt a[ ]: { 1 ,2 ,3,4,5\ ;

for(int r:0 ; i<5 ; i:i+2)
sunr : sulnraIi]:

cout'-<sum;

a) ta.so, 27.50, 19.09. 12.s0, tG,75 "dlffnl 
(Crlsirrd

o-lO1"lml3o,Cr0 QUab)doCgEi"I D .lrceo

b)'*ELC OME "prm ara;p;axi: g<.dal".:er pglliru
GrdGO.

t. o)coe o&os;roo1<ciiosr3on C++ **5"ocrfliornfl
o(D$a;$ ooej(Djd,.

1) char S1[10], 52[10] -'"u'el{ome":
strcpy(S I,52).
cout<'<S1;

2) char S1[20]: "welcolne".
char 52 [20]--"to C.l--] ";

strcat(S1.52).
cout<<S1:

B. ggcQld a:otsni cLislo oorcunrrojled a;rrtcol

corslo cnonlel;*g,3{(s).!cmDc og)ei(I}Je.

9. <html> sccdlalop "6or<olr$r:iic 
roowi cirorlslon$:5)

oud p"-tc.ictccD m-)orro)o .{)9.1{Dldjb.

10. FTP erer,gofl Gou?rrif ooxo,+.la;o! Oolccoc(oo

"{)eloJal
11. DBN,{S 6}Fl .&l}e dololon csa;dlog njldotjl

66)J<S.

(a) acdnrilcn:ej.lqt

(b) otru:c"tz:olod

i2. o)cog oto(o;,on SQL *lacoQ;.+,t13 DDL, D.MI-

"gnrila.st:ot 
rn rooneoioil al,l'.ei;rl;*.

( CREATE. NSERT",,\LTER, i-]P I} AT E)

13. BPR 
"6;onere{ ".6adl

14. ERP msgi-kof, oroyoror;cmo'ficrd m-rlgpc arsqpl,r

dlolof, uo:e*,:lrrorrni oilruaildo3.o,..

15. RFIDco;;ols Qrr-lcocoo ng1$Li?

16. GPRS, EDGE ,tsdccncgm-ia,otg <ooilr:8

tOcOtD0Jo Oolqlal (9r2=i8)
rz o;om6 27 olooaolEtB c"tcn5o-oncrdad e n$c"e,cttr

or'l cl o. "6 
o cnar,l e.r; c s "4 qorol cri groI-6l@6, til gl ol Jd,.

17. (Dcoe oloQo)J(m Cl++ caccufloo,Q a{)i.4$ "6s3
O)J,gr,

int sum:0:
inte[]='i1 ,2"3,4,5];

for(irrt i:0, i<.5: i:i-f2)
sum:sum*a[i],

cout<<sum;
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l8

I9

Explaur the use ofttrlloia,,ing built in functions in
Cr-l-

(i) absO ii) sqrt0 iii) pow( )

Compare oall by valne and call by reference
method in Ct++

Write a short n,lte olt "Java Seler Paues"

Narne thethree attribute of<NA{RQUEE> wjth
its use

2,2. Consieierthe fbllcv,,ing Jar,a Script Code.

<SCIRIPT ianguage.= " JavaS cri pt">

var I, s-

tbr(r:1. r<=.10. i++)

1

doclrment.wnte (s);

doc il ment, -rvritel' -lB 51>" I
(

<,SCRIPT>

What ",rril1 be the oul.put erftire program.

What is the use of -<SCRlPl'> tag

\4rrite the *utput statement usecl in the above
code.

Explain three type of "rveb hosting".

Distinguish Aitemate key,'and foreign kiry

Explain the different ievels ofdata airstractron rn
I]tsNfS
Expiain anyti'ree column constrarnts in SQL.

27 . Consicler the table IT'EIlf witir the fielcls ltem
*ode- Itenr name, Price. Write sqlqueries.

(a) To Displaythe rnaxirnur,n ard rninimum pnce of
itenx.

Tir reirlove all reeorels r.virere pnc:e<1000

1o ciisplavthe nurrrber ofrercurds in the table

-au

2l

(a)

(b)

(c)

z-1

24"

)A

(b)

(el

21.

o)cog o.o,csSolorlrolasr;c-r; ii-.i ar::ir*is ,.'. .

njl s!5 rrt1 cDl 0,O g a,t1cr1 "j oil o r0)"+;r1 e,

(i) ebs() ii) sqrt() ni) iri;rv{ i
C+-t- cac gEs)o6rx orcelJ] G€,ilui-ij,:)6xini o n rr,ri ;ai:*i:

ogrn"l'lot (Oco(ooJo 6ldpJ.rr,.

gcorc mrtdoi<d ctglorrr .o;oi{ r;:;11 ;,,,;:':'.i,.i;

(')9coc(oo.l6,.

<NAllQIiEE> scoilOto! cr{JOr0){biiJ),; Fr;l:ii t,;,. -: l

et l5 51.aUi cfd OK)i O S Q.. i$^ Q)l/J)or 
^. 

:-: i lLr,r r,.1.!.

,o:6
o) J o I b) 6 o s;rooiai[eo; m mc e c r,-r'r,.-a !,r] ]: i t .,+., ; il. ;-i

oloic<roi.+,t;,,1
<S CRtrT ianguage-."Ja vaS c ripr-"--

var 1, s.

for (i:1: 1<:10: i+'l\
t
t

s:1 x 1:

documeirt r.r'ite (s):

doc;uinent, write( "<BR.'")
tt
</SCRIPT>

(al 22rc carcr,ticrr! arl$ rL;$ 
"glcnt):(b) <SCRIP f :. "On'Jr(i qn-lcc0ilr-r.i),rnr,yrm:t,'r

(c) ptr cocnrilr.ct o:c jot;$ clpptr:,;.i ,:ii:iia ,ri,,,i.i ) .r,

o$)elo)l6

23. a;rn) AlrOtOlOilAlgg O,16rii G,.,-Cltt.,I!icr,*r),'r:r;,,.:.rrr.,,':

o1! oiicrrolosr;.o,

24. l:ff4c,r'dgrdCnfc) .9"'lU)jD C,"r: Cri}€ .r)"im-)lr) ;.8,,,,;::i',{'t,, :::,,

o${O'tJCtI\to o{) I j.o)Jc},.

2s. DBMSots ol'loilcu o.Dlr?:J orcenlril"sraflJlDi.,;,: ri
otgl oiloroian;a.

26. SQl, ora nglorolo,la;c DIrTT! c'c"oglo dr.blri',ir:,:=*.

ojloflS"aorgoro;o1.1] <rj}ruol,ee.ia,.

27. ITEM ogcrD csenjlgflro? (,Doi)itoioit]-:i{t-il,}it'ii:.ri!r.ii,-

ovd gerid. pail 
"-iralcoonl'iam;"e,.

(item code, itern nante, prrcc) S(]L ,::,,,:..::i

o{)el{Ille.
(a) d4-]f; cll;c ;Ip-t'lco; fJ)i)l,J:n)1. ii,r- . t -.,

6)Olcll mljo loJBr.d uol.,L.ti,Do),,$,

(b ) rul g rznqoilorororlo8 .al or.rll $, i'i:),::rt,ri' r,-: ..'

.ojog 6lctlojedol6,.
(c ) corgo.e, ol oaeic<i ru, l+r,g] or s o,r)b[Ij ] a.4 ri-],,ii i.r ;

c.il"os4a' 
{.,}:<.1 .r,:
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Questions from 28-30 carlT'5 scors"Answer any

2 questions.

28. Consider the Ct+ program to firtd the sum of
first i 0 natural nunnbers and answerthe following

quesilons.

#include<iostrearn>

using namespace std;

intmauiQ
I
t
intn, sum:0;
for (int i:l' i<:10' i++)
arr*: triln* 1.

cout(d"Sum iS:"<<Sum
)
I

(a) Rewritethe above program using do-r.r'hile loop.

(b) What will be output ofthe above program rf r" e

replace i++ pi1, i: ii2 in the for looP

(c) What is the purpose of #rnclude<iostream>

29. (a) Name the HTML tag to create checkbox,

textbox and raclio box,

(b) W'riteHTNllstatementto createthetexbox u'tth

rnaximum length 25 and size 30.

(c) Wiite HTMlstatemen'Lto create a submit button

with caption "login".

3 C. Consider the javimcnpt code to display the square

of first 10 numbers using the code ansrver the

foliowrng.

<S CRIPT I anguage : " Javascript")

var 1, s;

for (i:1; i<:10; i++)

t
s:ixi;
document.write(s);

document write ("<BR>")'

]
<iSCRIPT>

(a) Rewite the above program using while loop.

(b) Modift the above program to print the first i 0

evennumben.

za o;<ooE 30 otoo@lqg corcn5arnrdaei s micacd
or"l(Do. "6ooro'ler;o z ofleproltllloi grorooooglotle.

28, GD6JO6to to "9e5goE(ruooJJ6g]Os 
(0)lo)

a,c6mcmlgE C# aCopLcnco oJo'lo6rD'12] olcoe
oro(o)lcm aarco56nuaaoi goo'roo oogl(ole

#include<iostream>

using namespace std;

intmain$

{
intn, sum:0;
for(inti:l; i<=10; i#)
sum:sum*i;
cout("sumis-"<<sum
)

(a) olagfl<fi alo5r0rD cLolcLoco do-while er3fr g"l
corc<n1{ mglooe}o)}a,.

G) for er3gfloa i# rn;otaoo i: il2 o61crd acgl
qDc(d aL"loLocalo<Q ao$.t}$ og)corcco.ilo1ao;ol

(c) #includE<iosfieam>oofl <oOocoJo oOoDc5nJ?

2e. (a) 
"Od 

HTML scocerd checkboxText, radio

box gerecaoccrd golcolcoleeiScm<d"

(b) erol osdcS1i cen6dmjloofl orcocoul1 rn'lgo

25 go, oeflgo 3ogo Groldocffiigg HTML

acSpfooofl og)el(Dle. 
:

(c) login o61cm eru5er6 gsrecaoc<nlgg HTML

GgBliooCIfl ooel(o,]e

30. GrOBJoolo ro "6e!goa ruoolJagJos ot<acoo

eccrDcrnlqo scocrniLa1"ifl ce,cntS o.to'ls)

erril{ <o>cov o-jo@}cm co.lco5eunodad gtoto'loo

oO9]o)]6,.
<SCRIPT language = "Javasoript">

val 1, S;

for(i=1; i<:10; i#)
i
s=i*i;

' document.write(s);

document write (" <BR>") ;

)
<SCRIPT>

(a) a3agiloE oa,cs;oto, cLdJcLoco a3g] g"too;c
rnl{ oc91 ooe}(o)}e.

b) GrooJooto 10 @o$ouoo{a,ua €ic6rrr1€ocor}gg

cLcllcL(r)co o}agiloa ojosroTo CLolcLoco'lo(r) acgl

oO9]{o)la,.
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